

NAME: ANAKHUME OTHEL EXEMO

DEPT: MSBS

C.C: MATH 104

MAT. NO: 19/11/201/023

• Find equation of the tangent & equation of the normal.

1) $y = 2x^2$ at point $(1, 2)$

$$\Rightarrow \frac{dy}{dx} = 4x \Rightarrow m = \frac{dy}{dx} \Big|_{x=1} \Rightarrow 4(1) = 4 //$$

$$y - y_1 = m(x - x_1)$$
$$y - 2 = 4(x - 1)$$

eg of
for normal, $y - 2 = x - 1 \Rightarrow y - x - 1 = 0 / \rightarrow$ eqn of tangent.

$$\Rightarrow y - 2 = \frac{-1}{m}(x - x_1)$$
$$\Rightarrow y - 2 = \frac{-1}{1}(x - 1) \Rightarrow y - 2 = -x + 1$$

$$\Rightarrow y + x - 3 = 0 / \rightarrow$$
 eqn of normal.

2) $y = 3x^2 - 2x$ at point $(2, 8)$

$$\Rightarrow \frac{dy}{dx} = 6x - 2 \Rightarrow m = \frac{dy}{dx} \Big|_{x=2} \Rightarrow 6(2) - 2 = 12 - 2 = 10 //$$

TANGENT

$$y - y_1 = m(x - x_1) \Rightarrow y - 8 = 10(x - 2) \Rightarrow y - 8 = 10x - 20$$
$$\Rightarrow y - 10x + 12 = 0 //$$

NORMAL

$$y - y_1 = \frac{-1}{m}(x - x_1) \Rightarrow y - 8 = \frac{-1}{10}(x - 2) \Rightarrow 10y - 80 = -x + 2$$
$$\Rightarrow 10y + x - 82 = 0 //$$

3) $y = x^{\frac{3}{2}}$ at point $(-1, -\frac{1}{2})$

$$\Rightarrow \frac{dy}{dx} = \frac{3}{2}x^{\frac{1}{2}} \Rightarrow m = \frac{dy}{dx} \Big|_{x=-1} \Rightarrow \frac{3(-1)^{\frac{1}{2}}}{2} = \frac{3}{2}k$$

TANGENT

$$y - y_1 = m(x - x_1) \Rightarrow y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1)) \Rightarrow y + \frac{1}{2} = \frac{3}{2}x + \frac{3}{2}$$

[Multiply both sides by 2]

$$\Rightarrow 2y + 1 = 3x + 3 \Rightarrow 2y - 3x - 2 = 0 //$$

NORMAL

$$y - y_1 = \frac{-1}{m}(x - x_1) \Rightarrow y + \frac{1}{2} = \frac{-1}{-1}(x + 1) \Rightarrow y + \frac{1}{2} = x + 1 \Rightarrow 2y + 1 = 2x + 2$$

$$\Rightarrow 2y - 2x - 1 = 0 //$$

4) $y = 1 + x - x^2$ at point $(-2, -5)$

$$\Rightarrow y = -x^2 + x + 1 \Rightarrow \frac{dy}{dx} = -2x + 1 \Rightarrow m = \left. \frac{dy}{dx} \right|_{x=-2} \Rightarrow -2(-2) + 1 = 4 + 1 = 5$$

TANGENT

$$y - y_1 = m(x - x_1) \Rightarrow y + 5 = 5(x + 2) \Rightarrow y + 5 = 5x + 10 \Rightarrow y - 5x - 5 = 0$$

NORMAL

$$y - y_1 = \frac{-1}{m}(x - x_1) \Rightarrow y + 5 = \frac{-1}{5}(x + 2) \Rightarrow 5y + 25 = -x - 2 \\ \Rightarrow 5y + x + 27 = 0$$

5) $y = \frac{1}{x}$ at point $(3, \frac{1}{3})$

$$\Rightarrow \frac{dy}{dx} \text{ for } y = x^{-1} \Rightarrow \frac{dy}{dx} = -1x^{-2} \Rightarrow \frac{-1}{x^2}$$

$$\Rightarrow m = \left. \frac{dy}{dx} \right|_{x=3} \Rightarrow \frac{-1}{3^2} = -\frac{1}{9}$$

TANGENT

$$y - y_1 = m(x - x_1) \Rightarrow y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$\Rightarrow 9y - 3 = -x + 3$$

$$\Rightarrow 9y + x - 6 = 0$$

NORMAL

$$y - y_1 = \frac{-1}{m}(x - x_1) \Rightarrow y - \frac{1}{3} = \frac{-1}{-\frac{1}{9}}(x - 3)$$

$$\Rightarrow y - \frac{1}{3} = 9(x - 3)$$

$$\Rightarrow y - \frac{1}{3} = 9x - 27$$

$$\Rightarrow 3y - 1 = 27x - 81$$

$$\Rightarrow 3y - 27x - 80 = 0 //$$